
World War I – Quiz

1. Which event is considered to have triggered the chain of reactions
that led to World War I?

A) Assassination of Austrian Archduke Franz Ferdinand

B) Invasion of Poland

C) Signing of the Treaty of Versailles

D) Bombing of Pearl Harbor

2. Which country made the first declaration of war?

A) Germany

B) Serbia

C) Russia

D) Austria-Hungary

3. Which countries made up the Central Powers during World War
I?

A) Germany, Austria-Hungary, Ottoman Empire

B) France, Russia, United Kingdom

C) United States, Italy, Japan

D) Serbia, Romania, Greece



4. Which event marked the official end of the First World War?

A) The abdication of Tsar Nicholas II

B) The signing of the Treaty of Versailles

C) The Bolsheviks seizing power in Russia

D) The withdrawal of Russia from the war front

5. Who won World War I?

A) The Axis Powers

B) The Central Powers

C) The Allied Powers

D) None of the above

Answers [1-A, 2-D, 3-A, 4-B, 5-C]


